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Mrs. Gregory & Mrs. Postlethwuite's group — Reasoning and problem solving answers

B is the odd one out because it represents so0 hundredths (five tenths). A, ¢ and D all represent five e
hundredths. 56

The numerator is the same as the decimal because the numerator and decimal both represent 24 parts.
The decimal is different because it has a zero to represent there is not a whole and has a decimal point to

separate the whole ones from the parts. The fraction is different because it has a denominator that clearly shows that
the whole is equivalent to a 100 parts.

False because 60 hundredths is equivalent to 0.6. 60 hundredths means 60 parts out of a 100 and 0.6 represents
six tenths which is the same as 60 hundredths.

1) a) E(0.04),¢(0.3),p(0.3), 4 (0.34),F (0.9), B(0.43), 6 (0.97)

b) Decimal numbers have to be between 0.4 and 0.13. Accept any of the following answers:
0.05, 0.06, 0.07, 0.0, 0.04, 0., 0.11, 0.2

2) There should not be any number on the number line bigger than 0.66 or smaller than 0.).



